Form 603

Corporations Act 2001 Section 671B

Notice of initial substantial holder

T- 0		
To Company Name/Scheme	Aspermont Limited	
ACN/ARSN	000 375 048	
Details of substantial holder Name ACN/ARSN (if applicable)	(1) Ginga Pty Ltd ATF Thomas G Klinger Family Trust; Thirty Sixth Vilmar Pty Ltd; Ginga Pty Ltd ATF TG Klinger Super Fund	

The holder became a substantial holder on

30 ,08 19

2. Details of voting power

The total number of votes attached to all the voting shares in the company or voting interests in the scheme that the substantial holder or an associate (2) had a relevant interest (3) in on the date the substantial holder became a substantial holder are as follows:

Class of securities (4)	Number of securities	Person's votes (5)	Voting power (6)
Ordinary	106,888,671	106,888,671	5.05%

3. Details of relevant interests

The nature of the relevant interest the substantial holder or an associate had in the following voting securities on the date the substantial holder became a substantial holder are as follows:

Holder of relevant interest	Nature of relevant interest (7)	Class and number of securities
Ginga Pty Ltd ATF Thomas G Klinger Family Trust	Registered Holder	Ordinary - 1,453,404
Thirty Sixth Vilmar Pty Ltd	Registered Holder	Ordinary - 5,000,000
Ginga Pty Ltd ATF TG Klinger Super Fund	Registered Holder	Ordinary - 53,258,155
Ginga Pty Ltd	Registered Holder	Ordinary - 47,177,112

4. Details of present registered holders

The persons registered as holders of the securities referred to in paragraph 3 above are as follows:

Holder of relevant interest	Registered holder of securities	Person entitled to be registered as holder (8)	Class and number of securities
Ginga Pty Ltd ATF Thomas G Klinger Family Trust	Thomas G Klinger Family Trust	Ginga Pty Ltd ATF Thomas G Klinger Family Trus	Ordinary - 1,453,404
Thirty Sixth Vilmar Pty Ltd	Thirty Sixth Vilmar Pty Ltd	Thirty Sixth Vilmar Pty Ltd	Ordinary - 5,000,000
Ginga Pty Ltd ATF TG Klinger Super Fund	TG Klinger Super Fund	Ginga Pty Ltd ATF TG Klinger Super Fund	Ordinary - 53,258,155
Ginga Pty Ltd	Registered Holder	Ginga Pty Ltd	Ordinary - 47,177,112

5. Consideration

The consideration paid for each relevant interest referred to in paragraph 3 above, and acquired in the four months prior to the day that the substantial holder became a substantial holder is as follows:

Holder of relevant interest	Date of acquisition	Consideration	nn (9)	Class and number of securities
Refer to Annexure A		Cash	Non-cash	

6. Associates

The reasons the persons named in paragraph 3 above are associates of the substantial holder are as follows:

Name and ACN/ARSN (if applicable)	Nature of association

7. Addresses

The addresses of persons named in this form are as follows:

Name	Address	
Ginga Phy Ltd ATF Thomas G Klinger Family Trust Thirty Sixth Vilmar Pty Ltd	PO Box 244, Port Douglas GLD 4877 PO Box 244, Port Douglas GLD 4877	
Ginga Pty Ltd ATF TG Kinger Super Fund Ginga Pty Ltd	PO Box 244, Port Douglas QLD 4877 PO Box 244, Port Douglas QLD 4877	

Signature

print name

THOMAS GEORGE KLINGER CAPACITY DIRECTOR

sign here

date 17 , 12 ,2019

DIRECTIONS

age!

- (1) If there are a number of substantial holders with similar or related relevant interests (eg. a corporation and its related corporations, or the manager and inustee of an equity trust), the names could be included in an annexure to the form. If the relevant interests of a group of persons are essentially similar, they may be referred to throughout the form as a specifically named group if the membership of each group, with the names and addresses of members is clearly set out in paragraph 7 of the form.
- (2) See the definition of "associate" in section 9 of the Corporations Act 2001.
- (3) See the definition of "relevant interest" in sections 608 and 671B(7) of the Corporations Act 2001.
- (4) The voting shares of a company constitute one class unless divided into separate classes.
- (5) The total number of votes attached to all the voting shares in the company or voting interests in the scheme (if any) that the person or an associate has a relevant interest in.
- (6) The person's votes divided by the total votes in the body corporate or scheme multiplied by 100.
- (7) Include details of:
 - (a) any relevant agreement or other circumstances by which the relevant interest was acquired. If subsection 6718(4) applies, a copy of any document setting out the terms of any relevant agreement, and a statement by the person giving full and accurate details of any contract, scheme or arrangement, must accompany this form, together with a written statement certifying this contract, scheme or arrangement; and
 - (b) any qualification of the power of a person to exercise, control the exercise of, or influence the exercise of, the voting powers or disposal of the securities to which the relevant interest relates (indicating clearly the particular securities to which the qualification applies).

See the definition of "relevant agreement" in section 9 of the Corporations Act 2001.

- (8) If the substantial holder is unable to determine the identity of the person (eg. if the relevant interest arises because of an option) write "unknown".
- (9) Details of the consideration must include any and all benefits, money and other, that any person from whom a relevant interest was acquired has, or may, become entitled to receive in relation to that acquisition. Details must be included even if the benefit is conditional on the happening or not of a contingency. Details must be included of any benefit paid on behalf of the substantial holder or its associate in relation to the acquisitions, even if they are not paid directly to the person from whom the relevant interest was acquired.

Annexure A

Aspermont Limited – Balance as at last share issue date 14/05/2019 – 2,116,392,421 shares on issue.

28/08/2019	Securities Purchase Article	28/08/2019 Securities Purchase Artus	414 040 01	000000000000000000000000000000000000000		
08/02/2019	Securities Purchase Actual	Securities Burchase	400 100 17	1,400,000,0000	0.0100	S 5 5 6 7 6 7 6 7 6 7 6 7 6 7 6 7 6 7 6 7
0400/00/00	4		#7.00/107¢	2,0/4,911,0000	0.0100	\$31.63
6102/20/00	securities Purchase Actual	Securities Purchase	\$2,502.75	250,000.0000	0.0100	\$2.75
05/02/2019	Securities Purchase Actual	Securities Purchase	\$18,771.52	1,875,089,0000	0.0100	\$20.63
05/02/2019	Securities Purchase Actual	Securities Purchase	\$1,932.04	192,992,0000	0.0100	\$2.12
04/02/2019	Securities Purchase Actual	Securities Purchase	\$48,122.96	4,807,008.0000	0.0100	\$52.88
11/09/2018	Securities Purchase Actual	Securities Purchase	00.000,6\$	900,000,000	0.0100	\$0.00
06/09/2018	Securities Purchase Actual	Securities Purchase	\$47.91	1,796.0000	0,0100	\$29.95
05/09/2018	Securities Purchase Actual	Securities Purchase	\$0.01	1,0000	0.0100	\$0.00
31/08/2018	Securities Purchase Actual	Securities Purchase	\$1,619.74	161,796,0000	0,0100	\$1.78
29/08/2018	Securities Purchase Actual	Securities Purchase	\$28,413.26	2,838,204,0000	0,0100	\$31.22
21/08/2018	Securities Purchase Actual	Securities Purchase	\$22,024.20	2,000,000,0000	0,0110	\$24.20
06/06/2018	Securities Purchase Actual	Securities Purchase	\$8,021.41	801,642.0000	0.0100	\$4.99
31/05/2018	Securities Purchase Actual	Securities Purchase	\$2,003.53	198,358,0000	0,0100	\$19.95
29/05/2018	Securities Purchase Actual	Securities Purchase	\$132.26	12,011,0000	0,0110	\$0.14
28/05/2018	Securities Purchase Actual	Securities Purchase	\$1,651.82	150,000,0000	0,0110	\$1.82
25/05/2018	Securities Purchase Actual	Securities Purchase	\$5.40	490.0000	0.0110	\$0.01
24/05/2018	Securities Purchase Actual	Securities Purchase	\$2,202.28	200,000,0000	0,0110	\$2.28
23/05/2018	Securities Purchase Actual	Securities Purchase	\$18,032,44	1,637,499,0000	0,0110	\$19.95
04/12/2017	Securities Purchase Actual	Securities Purchase	\$7,147.78	791,981,0000	0.0000	\$19.95
04/12/2017	Securities Purchase Actual	Securities Purchase	\$741.84	82,337,0000	0.0000	\$0.81
01/12/2017	Securities Purchase Actual	Securities Purchase	\$19,197.73	1,917,663.0000	0.0100	\$21,10
24/06/2016	Securities Purchase Actual	Pro-Rate 2:4 Non-Renounce	\$4,274.72	427,472.0000	0,0100	\$0.00
24/06/2016	Securities Purchase Actual	Pro-Rate 2:4 Non-Renounce	\$70,833.34	7,083,334,0000	0.0100	\$0.00
20/10/2014	Securities Purchase Actual	Securities Purchase	\$150,000.00	15,000,000,0000	0,0100	\$0.00
22/09/2014	Securities Purchase Actual	New Right Ent	\$10,000.00	1,000,000,0000	0.0100	\$0.00
22/09/2014	Securities Purchase Actual	New Right Ent	\$5,129.66	512,966.0000	0.0100	\$0.00
18/06/2010	Transfer In Actual	Transfer In	\$61,559.52	512,966.0000	0.1200	\$0.00
17/11/2009	Transfer In Actual	Transfer In	\$0,00	1,000,000,000	0,0000	\$0,00

Thirty Sixth	Thirty Sixth Vilmar Ptv Ltd – total share holding as at 14/05/2019 5,000,000	Iding as at 14/05/2019	5,000,000				
02/04/2019	Securities Purchase Actual	Securities Purchase		\$48,570.65	4,043,892,0000	0.0120	
01/04/2019	Securities Purchase Actual	Securities Purchase		\$6.60	250,0000	0,0120	
26/03/2019		Securities Purchase		\$733.65	73,365,0000	0.0100	
25/03/2019	Securities Purchase Actual	Securities Purchase		\$8,841.88	882,193.0000	0.0100	

\$43.95 \$0.00 \$0.00 \$19.95

Ginga Ptv Lt	Ginga Ptv Ltd ATF TG Klinger Super Fund - total	Super Fund - tota	I share holding as at 14/05/2019 53,258,155				
01/08/2019	Macanities Perchase Actua	Actual	Securities Purchase	\$2,413.42	219,161,0000	0.0110	42,65
31/07/2019	Securities Purchase Actua	Actual	Securities Purchase	\$991,09	90,000.0000	0.0110	\$1.09
23/02/2019	Securities Purchase Actual	Actual	Securities Purchase	\$11,743.82	1,066,447,0000	0.0110	\$12.90
19/07/2019	Securities Purchase	Actual	Securities Purchase	\$2,403.67	218,275,0000	0.0110	\$2.64
18/07/2019	Securities Purchase		Securities Purchase	\$37,508.51	3,406,117.0000	0.0110	\$41.22
18/07/2019	Securities Purchase		Securities Purchase	\$5,357.59	486,518,0000	0.0110	\$5.89
04/07/2019	Securities Purchase		Securities Purchase	\$27,522.56	2,500,000,0000	0.0110	\$22,56
04/07/2019	Securities Purchase		Securities Purchase	\$5,038.00	458,000,0000	0.0110	\$0,00
01/02/2019	Securities Purchase		Securities Purchase	\$210,64	19,149.0000	0.0110	\$0.00
27/05/2019	Securities Purchase		Securities Purchase	\$2,178.00	198,000.0000	0,0110	\$0.00
24/05/2019	Securities Purchase		Securities Purchase	\$2,200.00	200,000.0000	0,0110	\$0.00
21/05/2019	Securities Purchase		Securities Purchase	\$1,541.61	138,333,0000	0.0110	\$19.95
01/02/2010	Securities Purchase		Securities Purchase	\$36,039.60	3,000,000,0000	0.0120	\$39.60
01/05/2019	Securities Purchase		Securities Purchase	\$60,066.00	5,000,000,0000	0.0120	\$66,00
25/03/2019	Securities Purchase		Securities Purchase	\$19,815,34	1,979,356.0000	0.0100	\$21.78
22/03/2019	Securities Purchase		Securities Purchase	\$29,505.87	2,949,276.0000	0.0100	\$13,11
20/02/2019	Securities Purchase		Securities Purchase	\$590.89	71,368.0000	0.0080	\$19,95
12/02/2014	Securities Purchase		Securities Purchase	\$9,069.54	905,957.0000	0.0100	\$9.97
11/02/2019	Securities Purchase		Securities Purchase	\$40,985.46	4,094,043.0000	0,0100	\$45.03
23/01/2019	Securities Purchase		Securities Purchase	\$54,059,40	6,000,000,0000	0600'0	\$59,40
21/01/2019	Securities Purchase		Securities Purchase	\$22,081.78	2,453,531,0000	0.0000	\$24.29
18/01/2019	Securities Purchase		Securities Purchase	\$22,943.43	2,546,469.0000	0.0000	\$25.21
20/02/2018	Securities Purchase		Securities Purchase	\$18,019.95	2,000,000,0000	0600'0	\$19.95
10/02/2018	Securities Purchase		Securities Purchase	\$2,872.76	319,195,0000	0.0000	\$0.00
27/06/2018	Securities Purchase		Securities Purchase	\$9,000.00	1,000,000,0000	060000	\$0.00
26/06/2018	Securities Purchase		Securities Purchase	\$1,729.95	190,000.0000	0600'0	\$19.95
14/11/2017	Securities Purchase		Securities Purchase	\$1,146,47	127,244,0000	0600'0	\$1.27
07/11/2017	Securities Purchase		Securities Purchase	\$9,682.00	1,074,836,0000	0.0000	\$8,48
03/11/2017	Securities Purchase	Actual	Securities Purchase	\$16,201.23	1,797,920.0000	0.0000	\$19,95
18/10/2016	Securities Purchase		No consideration issue	\$0.00	5,300,000,0000	0.0000	\$0.00
24/06/2016	Securities Purchase	Actual	Pro-Rata 2:4 Non-Rehousea	\$10,144.00	1,014,400.0000	0,0100	\$0.00
22/09/2014	Securities Purchase	Actual	Rights Entitlement	\$12,172,80	1,217,280,0000	0.0100	\$0,00
16/05/2012	Purchase	Actual	Purchase	\$22,383.60	223,590.0000	0.1000	\$24.60
04/05/2012	Purchase	Actual	Purchase	\$1,100.00	10,000,0000	0.1100	\$0.00
02/05/2012	Purchase	Actual	Purchase	\$67.68	520,0000	0.1300	\$0.08
02/05/2012	Purchase	Actual	Purchase	\$975.85	8,690,0000	0.1100	\$19.95
01/05/2012	Purchase	Actual	Purchase	\$12,634.80	97,084.0000	0.1300	\$13.88

GUIDE

This guide does not form part of the prescribed form and is included by ASIC to assist you in completing and lodging form 603.

Signature

This form must be signed by either a director or a secretary of the substantial holder.

Lodging period

Nil

Lodging Fee

Nil

Other forms to be completed

Nil

Additionalinformation

- (a) If additional space is required to complete a question, the information may be included on a separate piece of paper annexed to the form.
- (b) This notice must be given to a listed company, or the responsible entity for a listed managed investment scheme. A copy of this notice must also be given to each relevant securities exchange.
- (c) The person must give a copy of this notice:
 - (i) within 2 business days after they become aware of the information; or
 - (ii) by 9.30 am on the next trading day of the relevant securities exchange after they become aware of the information if:
 - (A) a takeover bid is made for voting shares in the company or voting interests in the scheme; and
 - (B) the person becomes aware of the information during the bid period.

Annexures

To make any annexure conform to the regulations, you must

- 1 use A4 size paper of white or light pastel colour with a margin of at least 10mm on all sides
- 2 show the corporation name and ACN or ARBN
- 3 number the pages consecutively
- 4 print or type in BLOCK letters in dark blue or black ink so that the document is clearly legible when photocopied
- 5 identify the annexure with a mark such as A, B, C, etc
- 6 endorse the annexure with the words: This is annexure (mark) of (number) pages referred to in form (form number and title)
- The annexure must be signed by the same person(s) who signed the form.